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1. BEEBOE
(1) #FEUNE
HEAREERLE 21, 746, 000 21, 908, 000 -162, 000
HEKXEEERARE 21, 746, 000 21, 908, 000 -162, 000
BEEEERLR 16, 546, 000 17, 628, 000 -1, 082, 000
BifAREESEERSE 10, 000 10, 000 0
IETEERMEN S DIREZE 16, 536, 000 17,618, 000 -1, 082, 000
ZMEE 10, 260, 000 10, 490, 000 -230, 000
g2hesB 10, 260, 000 10, 490, 000 -230, 000
EBENE 166, 384, 000 165, 628, 000 756, 000
ATk HEEEE IS 166, 384, 000 165, 628, 000 756, 000
SHHEBIE S 34, 560, 000 41, 960, 000 -7, 4000, 000
SHHEEEE 34, 560, 000 30, 960, 000 -5, 400, 000
IETEERMENSDIREEE 0 2,000, 000 -2, 000, 000
==k 111, 509, 000 103, 612, 000 7, 897, 000
G =Eiz ke 111, 509, 000 103, 612, 000 7, 897, 000
SWHFfE 15, 000, 000 16, 000, 000 -1, 000, 000
SHEMNE 15, 000, 000 15, 000, 000 0
IBETEIERBIEN S DIREEE 0 1, 000, 000 -1, 000, 000
SZHRF 0k 874, 000 972, 000 -98, 000
HERBHRIEFHCH 874, 000 972, 000 -98, 000
E55I4EREAZE 7,153, 000 6, 474, 000 679, 000
E55|I4EREAZE 7,153, 000 6, 474, 000 679, 000
HUn s 60, 000 60, 000 0
MUN LS 60, 000 60, 000 0
BEINEET 384,092, 000 384, 732,000 -640, 000
Q) EEER

= ¥ 353, 615, 000 363, 241, 000 -9, 626, 000
1% B 3R 6, 288, 000 6, 124, 000 164, 000
HBHEFY 81, 235, 000 90, 420, 000 -9, 185, 000
BE AT ER 5,691, 000 6, 348, 000 -657, 000
BEAELEE 13, 733, 000 13, 628, 000 105, 000
BES55|UEEALE 5,231, 000 6, 284, 000 -1, 053, 000
=& 459, 000 1, 241, 000 -782, 000
SiEF AR 7, 835, 000 9,183, 000 -1, 348, 000
RERXEE 8, 040, 000 12, 342,000 -4, 302, 000
BIEEWE 4 506, 000 4,934, 000 -428, 000
BARERE 246, 000 447,000 -201, 000
HELE 1,313, 000 1,413, 000 -100, 000
EiEE 126, 000 132, 000 -6, 000
RIS A E 17,177,000 20,139, 000 -2,962, 000
FLENIKFL & 965, 000 947, 000 18, 000
EEH 10, 153, 000 8, 343, 000 1, 810, 000
S B UER 3, 888, 000 3, 662, 000 226, 000
HMEHE 1, 863, 000 2,731,000 -868, 000
Bt e 3, 814, 000 3, 738, 000 76, 000
REEH 12,000 50, 000 -38, 000
NFENER 6,472,000 6, 452, 000 20, 000
RN =Eick 6, 354, 000 11,194, 000 -4, 840, 000
XiBhRLE 95, 780, 000 93, 280, 000 2,500, 000
REE 70, 847, 000 55, 654, 000 15, 193, 000
ME 1, 587, 000 4, 555, 000 -2, 968, 000
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EEE 30, 477,000 26, 213, 000 4, 264, 000
% B 4RAN 4,996, 000 4,884, 000 112, 000
HHTY 13, 761, 000 11,327,000 2, 434. 000
SERHA 2 A 1,279, 000 1, 347,000 ~68, 000
EREER 3,083, 000 2,405, 000 678, 000
E55|4e@AH 972, 000 869, 000 103, 000
S 40, 000 40, 000 0
S5 F % 200, 000 200, 000 0
igedt 460, 000 460, 000 0
BIEE W 264, 000 153, 000 111,000
TS % 44, 000 51, 000 -7, 000
SRR R 159, 000 120, 000 39, 000
2 24, 000 18, 000 6, 000
ENRI S 2 100, 000 100, 000 0
H B B 175, 000 133, 000 42, 000
R 2,027,000 1, 437,000 590, 000
EH R UHRH 661, 000 509, 000 152, 000
HRBH 201, 000 169, 000 32, 000
e 1, 830, 000 1, 860, 000 ~30, 000
A A 18, 000 15, 000 3,000
ZihEiES 76, 000 36, 000 40, 000
W 107,000 80, 000 27, 000
EREME 384, 092, 000 389, 454, 000 -5, 362, 000
4 48 AR 0 -4, 722, 000 4,722, 000
2. RESMEBRDOER
(1) BHE SR EE
REMR A 0 0 0
) BENER
BENERE 0 0 0
LEEE MR 0 0 0
4 3 — AR IE BREA 7E 18 48 0 -4, 722,000 4,722, 000
— R IERM ENEES 1,810, 942, 667 1,815, 664, 667 ~4. 722,000
— IR IERB E KA S 1,810, 942, 667 1,810, 942, 667 0
157 IEWR B ZELR IR D D
ZIEHiS 500, 000 500, 000 0
SOAMNS% 0 2,000, 000 -2, 000, 000
BEAEERE 16, 536, 000 17, 618, 000 —1,082, 000
—IRIERKEA B~ D IR E B8 ~16, 536, 000 ~20, 618, 000 -4, 082, 000
4 3145 7 IE BR B 7E 1 A48 500, 000 ~500, 000 1, 000, 000
$EE E KA B B TR 1,036, 446, 617 036,946, 617 ~500, 000
$E E KA AR T4 7 1,036, 946, 617 036, 446, 617 500, 000
IERKEA BE I R T4 7 2,847, 889, 284 2,847, 389, 284 500, 000
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1. BEBROE
(1) BEIRE

EAXMEERT 6, 524, 000 15, 222,000 21,746, 000
AR EERT 6, 524, 000 15, 222,000 21,746, 000
HEEEERT 16, 546, 000 0 16, 546, 000
RifiAREEFERD 10, 000 0 10, 000
IEEERBED b DIREEE 16, 536, 000 0 16, 536, 000
ZHMEE 5,130, 000 5,130, 000 10, 260, 000
=:UEL 5,130, 000 5,130, 000 10, 260, 000

E % IV 156, 384, 000 10, 000, 000 166, 384, 000
kL HEEE E R 156, 384, 000 10, 000, 000 166, 384, 000
ZMEPEF 34, 560, 000 0 34, 560, 000
ZEFHBIEF 34, 560, 000 0 34, 560, 000
HEEIERMEN > DIREEE 0 0 0
ZmAEE 111, 509, 000 0 111, 509, 000
ZWMEEE 111, 509, 000 0 111, 509, 000
ZE T E 15, 000, 000 0 15, 000, 000
ZWMHFAE 15, 000, 000 0 15, 000, 000
HEEIERMEN > DIREEE 0 0
ZEF R 874,000 0 874,000
HEHRIRF 20 874,000 0 874,000
BE55I4ERA%HE 6, 032, 000 1,121,000 7,153, 000
ES5SI4ERA%E 6, 032, 000 1,121,000 7,153, 000
FEUR £5 60, 000 0 60, 000
FEUR T 60, 000 0 60, 000
EEAAEET 352, 619, 000 31, 473, 000 384, 092, 000

(2) #EER

= 5 353, 615, 000 353, 615, 000
& B R 6, 288, 000 6, 288, 000
BTy 81, 235, 000 81, 235, 000
BB ER 5,691, 000 5,691, 000
BAELEE 13, 733, 000 13, 733, 000
EE5I LA 5,231, 000 5,231, 000
£ 459, 000 459,000
S5F AN 1,835, 000 7,835, 000
REXBE 8, 040, 000 8, 040, 000
BISERE 4,506, 000 4,506, 000
B EEN & 246, 000 246, 000
HERE 1,313,000 1,313,000
B#EE 126, 00 126, 000
SN 17,177,000 17,177,000
SHKHE 965, 000 965, 000
=iEEs 10, 153, 000 10, 153, 000

B R R UER 3, 888, 000 3, 888, 000
HEBE 1, 868, 000 1, 868, 000
ECE il 3, 814, 000 3,814, 000
R 12,000 12, 000
NS 6,472,000 6,472, 000
XihgiEE 6, 354, 000 6, 354, 000
X LB E 95, 780, 000 95, 780, 000
EE 70, 847, 000 70, 847, 000
e 1,587,000 1,587,000
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i = NBEMEREFE EARE & &
EEE 30, 477,000 30,4717, 000
1% S #REN 4,996, 000 4,996, 000
BHFL 13,761, 000 13,761, 000
IRBSHG 1 5 1,279, 000 1,279, 000
BIELEE 3,083, 000 3,083, 000
BE55I5ERARE 972,000 972, 000
RiE 40, 000 40, 000
I AR 200, 000 200, 000
REXBH 460, 000 460, 000
BISERE 264, 000 264, 000
AT =EaIE= 44, 000 44,000
HERE 159, 000 159, 000
1EHEE 24,000 24,000
ERISAE 100, 000 100, 000
SEKHE 175, 000 175, 000
& 2,027,000 2,027,000
CESY-AO8: EE) 661, 000 661, 000
HMRBE 201, 000 201, 000
AT 1, 830, 000 1, 830, 000
AYIVAES 18, 000 18, 000
XGEE 16, 000 716, 000
HE 107, 000 107, 000
REHME 353, 615, 000 30, 477, 000 384,092, 000
= 5 HEE2 4l il 1 3
gﬁﬁﬁ%ﬁgmé%ﬁ%ﬁm ~996. 000 996, 000 0
EAMEFEERF 0 0 0
FEREMEERF 0 0 0
RERMAIHTMBRE 0 0 0
Btk ) 0 0 0
LR R -996, 000 996, 000 0
2. REMEBOE
(1) BEsIE
AR E: 5y 0 0 0
2) BENER
25 mE 0 0 0
LEEE MR 0 0 0
LA —ARIERRBA 1B IRIEE -996, 000 996, 000
— MR ERMEHERS 1,810, 942, 667
—RIERBAEHIRES 1,810, 942, 667
TEE IE IR B4 ZE 18R OO &R
ZIEFHE 500, 000 0 500, 000
ZMMBEHF 0 0 0
BEBEERD 16, 536, 000 0 16, 536, 000
—RIERBAE~ DIREE -16, 536, 000 0 -16, 536, 000
2 115 7 IE KB 1R IR BE 500, 000 0 500, 000
HEERMENERS 1,036, 446, 617
REERMEHRES 1,036, 946, 617
I ERMEHARES 2,847, 889, 284




